11@85 (Kl 1&85)

Linearized knot diagam

”1 |-

)/

Solving Sequence

o
\/\

3
2
A knot diagranﬂ ¢ ¢ C2 C Ci1 €3 Cio  C7

Ideals for irreducible component#ﬂ)f Xpar

I = (u — v+ +3u—1)

* 1 irreducible components of dim¢ = 0, with total 53 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I*=(u*®—u?2+...4+3u—1)

(i) Arc colorings

1
as = \0
1
as = —u?
U
ar = \—ud+u
—u3
a3 = \u® —ud+u
ud —ul +ut+1
ar = \ —10 4 248 — 3ub + 20t — u?
ud
apl = (—u3 + u)
wll — 209 + 207 — u?
g = \ —y" + 30 — 40" + 3 — P+ u
w?l — 409 + 907 — 12015 + 12013 — 10wt +9u® — 6u” + 3u® + u
a9 = _u23+5u21_~_.“_2u3_~_u
udt — T3 w41
ag = _u36+8u34+._._~_4u6_u4
ud” —10u® 4 -+ 4ud + 2u
ag = \ —y®M 4+ 11u*+ - — 23+ u
ul” — 10U + -+ + 4u® + 2u
ag = \ - + 110" 4+ —2u® +u
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u®? + 52u°0 + - .- + 12u — 14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,¢s w4 uP? o+ 3u 1
€2 u® + 250" + -+ 3u+ 1
€3 uP TSt o 4lu+ 5
C4,C8 P —uP 4 ut1
6 u® —uP? 4 149u + 97
7, C9, C10 uP 1302 -+ 3u+ 1
ci1 u® + 3u” + -+ 4 213u + 39




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€155 Y — 257 3y — 1
€2 Y+ Ty 4 43y — 1
3 y*? —5y°* + - + 911y — 25
Ca, €8 Y =13y 4 3y — 1
Ce y*? — 17y°% + -+ + 199323y — 9409
c7,C9, C10 Yy 552 4 — By —1
c11 Y™ + 11952 + .- — 28185y — 1521




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

1.044500 + 0.2815121

—2.20764 — 0.640851

—5.73049 + 0.773811

1.044500 — 0.2815121

—2.20764 + 0.640851

—5.73049 — 0.773811

0.601217 + 0.6867061

8.50588 — 6.508841

1.27031 + 5.734251

0.601217 — 0.686706.1

8.50588 + 6.508841

1.27031 — 5.734251

0.974822 + 0.4922211

—0.225106 — 0.8712651

—4.08839 — 0.803861

0.974822 — 0.4922211

—0.225106 + 0.8712651

—4.08839 + 0.803861

—0.586774 + 0.6905101

8.78157 + 0.187791

1.88251 — 0.648611

—0.586774 — 0.6905101

8.78157 — 0.187791

1.88251 + 0.648611

1.109660 + 0.186764.1

2.94416 + 0.205101

—5.58587 + 0.612431

1.109660 — 0.1867641

2.94416 — 0.205101

—5.58587 — 0.612431

—1.102420 4+ 0.2584431

—4.56669 — 2.491121

—11.89781 + 4.183921

—1.102420 — 0.2584431

—4.56669 + 2.491121

—11.89781 — 4.183921

—1.122120 + 0.1962801

2.54225 — 6.404521

—6.41624 + 4.339171

—1.122120 — 0.1962801

2.54225 4 6.404521

—6.41624 — 4.339171

0.971931 + 0.5955081

7.41049 + 1.560891

0

0.971931 — 0.5955081

7.41049 — 1.560891

0

0.366014 + 0.7735411

7.29360 + 8.950411

—0.09124 — 5.621381

0.366014 — 0.7735411

7.29360 — 8.950411

—0.09124 + 5.621381

—0.376178 4 0.7685201

7.69936 — 2.646311

0.774092 + 0.7046771

—0.376178 — 0.7685201

7.69936 + 2.646311

0.774092 — 0.7046771

—1.098220 4 0.3287171

—5.25608 + 2.820441

—13.7464 — 4.61041

—1.098220 — 0.3287171

—5.25608 — 2.820441

—13.7464 + 4.61041

—0.983871 + 0.5955561

7.60812 4 4.770011

0. —5.111237

—0.983871 — 0.5955561

7.60812 — 4.770011

0.+ 5.111231

0.592887 + 0.5821811

0.88261 — 3.449541

—2.55100 + 7.409841

0.592887 — 0.5821811

0.88261 + 3.449541

—2.55100 — 7.409841

S| || |e|g|2 || (g|g|g|g |2 |g|g|g|g|g8|g|g|g|g|g|g|ge |

= —1.038830 + 0.5402741 0.66178 +4.721851 0. —6.226171
= —1.038830 — 0.5402741 0.66178 —4.721851 0.+ 6.226171
= 1.108380 + 0.4294101 0.525380 — 0.8934171 | —6.66537 + 0.1

= 1.108380 — 0.4294101 0.525380 + 0.8934171 | —6.66537 + 0.1




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = —1.117790 + 0.4045811

0.34604 + 6.686441

—7.28464 — 6.641241

u = —1.117790 — 0.4045811

0.34604 — 6.686441

—7.28464 + 6.641241

u= 0.332464 + 0.7221961

—0.29834 4 5.138511

—4.80621 — 6.569761

w=0.332464 — 0.7221961

—0.29834 — 5.138511

—4.80621 + 6.569761

u = —0.491709 + 0.6185541

2.27338 — 0.138361

2.37846 + 0.393151

uw = —0.491709 — 0.6185541

2.27338 + 0.138361

2.37846 — 0.393151

u = —0.378665 + 0.682475]

1.76473 — 1.602531

1.33859 + 1.095951

u = —0.378665 — 0.682475]

1.76473 + 1.602531

1.33859 — 1.095951

u= 1.102860 + 0.5213801 —3.95438 — 4.574541 0
u= 1.102860 — 0.5213801 —3.95438 4 4.574541 0
u = —1.093000 + 0.5549341 —0.31357 4 6.391501 0
u = —1.093000 — 0.5549341 —0.31357 — 6.391501 0
uw= 1.114580 + 0.5566541 —2.57269 — 10.014301 0
u= 1.114580 — 0.5566541 —2.57269 + 10.014301 0
uw = —1.114170 + 0.5828981 5.52079 + 7.745011 0
uw = —1.114170 — 0.5828981 5.52079 — 7.745011 0

= 1.119280 + 0.5816311 5.0695 — 14.05511 0
uw= 1.119280 — 0.5816311 5.0695 4 14.05511 0

u= 0.262528 + 0.6162191

—1.62999 + 0.095421

—8.49556 + 0.701411

= 0.262528 — 0.6162191

—1.62999 — 0.095421

—8.49556 — 0.701411

u=0.022954 + 0.6417951

3.51831 — 2.966551

—2.71846 + 2.729441

u= 0.022954 — 0.6417951

3.51831 + 2.966551

—2.71846 — 2.729441

u= 0.559370

—1.01608

—9.59730




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,¢s w4+ e+ 4+ 3u+1
C2 u” + 250”2 + -+ 3u+ 1
c3 uP 4+ TuP? o Alu+ 5
Cq,C8 uP —uP? 4 a1
C6 u®d —u? 4 4 149u + 97
c7,C9,C10 P 4+ 13u"? + -+ 3u+1
c11 w?? +3u? + - +213u+ 39




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,Cs y53725y52++3y—1
€2 YBT3y — 1
c: 53 _ p. 52
3 Yy = 5y°  + - + 911y — 25
Cy4,Cg y53713y52+~~+3y71
Co y*? —17y°% + -+ - + 199323y — 9409
c7,C9,C10 y*? + 55yt 4. — By —1
1 y* +11y° + .- — 28185y — 1521




